PICTURE QuIZ

What is the Diagnosis?

female presents with negative repeated urine

pregnancy test and low serum human chorionic
gonadotropin (hCG) level. Ultrasound examination
showed an enlarged uterus measuring (18.8 x 9.7 x
15.6 cm) with complex mass in endometrial cavity with
multiple small hypoechoic areas, increased vascularity
and no fetal parts.

This image is a bisected uterus of 45 years old

a) Molar pregnancy caused by “high dose hook effect”
b) Partial molar pregnancy

c) Ectopic pregnancy

d) False pregnancy

Answer to the Picture Quiz from the Indian Journal of Clinical Practice, Vol. 35, No. 9, February 2025
Answer: (a) Meckel-Gruber syndrome

See Answer in the Next Month's Issue!
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